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L Multiple Choice Question. 2 points for each question. 80 points.
PART A: Question 1 to 10 you should choose the answer closest to the meaning to the underlined word or
phrase. One answer only.

1. China is suspected as the primary source of SARS that is spreading fast across the world.
(A)minor  (B)primitive  (C)first (D) intentional (E) targeted
2. The parents have lofty expectations for their son, so they sent him to the best high school.
(A)high (B)shaky (C)small (D)lowly  (E)slight
3. Both sides in the election are trying to throw accusation at each other; the ruling party supporters claim that
the opposing party is trying to thwart the will of people.
(A) evoke (B) help (C) figure out (D) tickle (E) block
4. Some people believe that lawyers are always working to see that justice is done. On the other hand, some
believe that lawyers only want to manipulate the legal system to get what they want. Could both sides be
right?
(A) control in a dishonest way (B) givehelpto (C) explain (D) disagree with (E) cheat on
5. Several companies are bringing out a couple of new models of laptops next year.
(A) changing  (B) modifying () finishing (D) producing (E) benefiting
6. On the defensive about whether the war is unfolding as quickly and as smoothly as they had expected, the
U.S. administration officials expressed confidence in the strength and flexibility of their military plan
(A) removing  (B) developing (C) foretelling (D) expecting (E) providing
7. Although the hazards of space travel are many, the rewards made it a worthwhile endeavor.
(A) task (B) difficulty (C)effort (D) behaviors (E) incident
8. The renewed interest in single-sex schooling has fostered a controversy among educators.
(A) remembered (B) repeated (C) confident (D) brought back again (E)\delayed
9. The congressman says he hopes the government takes a tough stand on the Cross-Strait issues.
(A) changes its position on ~ (B) is optimistic about (C) makes a difficult choice about
(D) maintains a high standard on (E) is rude about
10. The workers stood in front of the ruined factory and wondered what to do next; they doubted that they would
even collect their final pay checks now since the company was insolvent.
(A) changing aname  (B) hiring new workers (C) prospering (D) laying people off  (E) bankrupt

Part B. Question 11 to 20 you should choose the answer that best completes the sentence. One answer oﬁly.
Question 21 to 25 you should choose the best answer to fill each of the numbered blanks in the
passage. One answer only.

11. In Hong Kong, most sumptuous bank headquarters by a feng shui master who arranges the
environment to make maximum use of “positive energy sources.” _
(A) have seemed designed (B) seem to have been designed (C) seem to design
(D) were seemly designed (E) seem designed

12. To call the music of another music-culture “primitive" is one's own standards on a group them.
(A) do not recognize (B) be not recognizing  (C) that doesn’t recognize (D) , doesn’t recognize
(E) be recognized by them
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13. Two hamburgers contain the same number of chicken drumsticks.
(A) more than fat as (B) more fat than (C)more fatas (D) as fat protein  (E) fat as
14, Case studies are the target of much skepticism in the scientific community, used extensively by

numerous researchers.
(A)theyare (B)unlessare (C)are (D) yet they (E) yet they are
15. rain at all falls in the dry season in the Savanna regions of Africa.
(A) Not (B) Without (C) No (D) Neither  (E) Not having
16. A survey of public opinion—popularly called a poll—can provide us with a reasonably accurate measure of
how people think, certain conditions are met.
(A) having (B) giving (C) seeing (D) had (E) provided
17. The higher the content of carbon dioxide in the air, ;
(A) more heat it retains (B) than it retains more heat (C) heat will be more retaining
(D) it retains more heat (E) the more heat it retains
18. Chicago, , has given life to the musical, a genre many wrote off years ago
(A) the movie (B)isthemovie  (C) whichhasamovie (D) movieitis (E) being movie
19. The purpose of a labor union is to improve the working condition, , and pay of its members.
(A) jobs are secured (B) to be secure  (C) the job’s security (D) job security  (E) having job security
20. Leslie Cheung internationally for his role in “Farewell My Concubine,” where he played a
homosexual Chinese opera singer — a role which closely mirrored his life.
(A) have know for thebest  (B) was bestknown  (C) being best known (D) known  (E) known best

21 is to weep. 'The human species is the only one in the whole of animated nature that sheds
tears. The trained inability of any human being to weep is a lessening of his capacity to be human—a defect

which usually goes deeper than the mere inability to cry. 22 we feel like it, let us all have a good
cry—and clear our minds of those cobwebs of confusion which have for so long 23 the ineluctable
necessity of crying.

1!

21.(A) Tobe human (B) Human (C) That human (D) Which human (E) Since the human

22.(A) Incase  (B) Despite (C) Unless (D) If (E) Otherwise

23. (A) prevented us to understand (B) prevented us from understanding (C) prevented understanding
(D) been prevented us understanding (E) preventing us to understand

The World Health Organization, the Centers for Disease Control and Prevention, and the Hong Kong Health
Department have all said masks are mainly of value for health care workers, to help prevent the spread of illness
by people who feel sick and to protect 24 with those who feel ill, Advocates of wider mask use
contend that people who are starting to feel unwell, and are thus perhaps 25 , are more likely to wear
masks if they are less likely to be stigmatized in a community where healthy people are wearing masks too.

24. (A) close contact (B) those have contact closely  (C) having a contact (D) those in close contact
(E) at close contact

25. (A) on the verge of infectiousness (B) with the infectious verge (C) in the infectiousness
(D) infectious verge (E) having verge of infectiousness

PART C: Reading Comprehension. You will read several passages. Each one is followed by one question
or a number of questions about it. Question 26-40, you should choose the ONE best answer to
each question.
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Did you know that the fats in our bodies, which we try so hard to get rid of through exercising and surgery,
have a function? That the fat cells fight and never die? That exercising is better than dieting? That 70
percent of your calories are burned while you rest?

What is the main idea of the passage?

26. (A) Fat is increasingly harmful to your health as you age.
(B) There is more to fat than meets the eyes (pun sort of intended)
(C) Understanding in our bodies is important for good health.
(D) The more you rest, the faster your calories will be burned off.
(B) Exercising is as important as Dieting

We do not know how life began, but the fact that we exist proves that the right ingredients, in the right
amounts, and arranged in the correct way, did come together at some time in the past. The best approximation is
that it happened at least 2.5 to 3 billion years ago.

27. Which of the followings can best identify the topic?
(A) the past  (B) time (C) the planet (D) evolution  (E) origin of life

As a firefighter; I have seen many people die in hotel fires. Most could have saved themselves had they
been prepared.  There are over 10,000 hotel fires per year in the United States. In 1979, the latest year for
which figures are available, there were 11,500 such fires, resulting in 140 deaths and 1,225 injuries.”

28. What does the author use to introduce the essay?
(A) quotation (B) example  (C) question (D) historical reference (E) facts and statistics.

In May 1960, the FDA approved the sale of a pill that arguably would have a greater impact on American
culture than any other drug in the nation's history. For women across the country, the contraceptive pill was
liberating: it allowed them to pursue careers, fueled the feminist and pro-choice movements and encouraged more
open attitudes towards sex.

Among the key players in the development of the drug were two elderly female activists who demanded a
contraceptive women could eat like aspirin and then paid for the scientific research; a devout Catholic
gynecologist who believed a robust sex life made for a good marriage and argued tirelessly that the Pill was a
natural form of birth control; and a brilliant biologist who bullied a pharmaceutical company into risking a
possibly crippling boycott to develop this revolutionary contraceptive. In describing the obstacles they all hurdled,
The Pill presents a compelling account of a society in transition.

29. The passage would most likely to be found in a textbook on which of the following subjects:
(A) Social Studies ~ (B) History (C) Biology (D) Writing  (E) Psychology

30. It can be inferred from the passage that
(A) the sale of the contraceptive pill was a success
(B) the sale contraceptive pill had strengthened the feminist movement
(C) the contraceptive pill was the trigger of AIDS
(D) no other drug could be as successful as The Pill
(E) the sale of the Pill has started the fight between biologist and gynecologist
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Someday we will all have robots that will be our personal servants. They will look and behave much like
real humans. We will be able to talk to these mechanical helpers and they will be able to respond in kind.
Amazingly, the robots of the future will be able to learn from experience. They will be smart, strong, and untiring
workers whose only goal will be to make our lives easier.

31. Which sentence from the paragraph expresses the main idea?
(A) Someday we will all have robots that will be our personal servants.
(B) We will be able to talk to these mechanical helpers and they will be able to respond in kind.
(C) They will look and behave much like real humans.
(D) Amazingly, the robots of the future will be able to learn from experience
(E) Robots will be smart, strong, and untiring workers.

As the conflict in Iraq deepens, so has the debate about television coverage. Secretary of Defense Donald H.
Rumsfeld complained on Friday that "media mood swings" was distorting the depiction of American military
strategy. Actually, the movement was less up and down than across the ideological spectrum. In the initial phase,
the loudest complaints about bias were lodged by antiwar groups frustrated that television gave scant attention to
their protests. As casualties mounted, so did conservatives' laments about a liberal bias at the networks.

I/_j It can be inferred from this passage that
(A) there are conflicts between antiwar groups and the authority
(B) both antiwar groups and the government are unhappy about bias shown on TV
(C) the TV coverage is defending the U.S. policies
(D) People have debated a lot about the complete coverage of the war
(E) the media is very objective

Diagnosing Alzheimer’s disease (AD) has always been an inexact science. Now, there may be a new tool
to add to the box. Researchers from the Medical College of Wisconsin used magnetic resonance imaging (MCI)
to scan the brains of 24 people. By measuring activity in the hippocampus, the first place AD develops, they
could determine which patient were normal, which had AD, and which had mild cognitive impairment (MCI), a
major risk factor for AD. Until now, doctors have relied on the patient’s symptoms to distinguish between
patients with MCI and people with AD; the new test could provide objective information about just how close an
MCI patient is to eventually developing AD.

The test is years from perfection and AD drugs are still in trial stages. But the possibility of early
detection is now closer.

33. What ﬁlighl be a good title for this passage?
(A) Alzheimer’s Advance (B) Alzheimer’s Cause (C) The Testing Process of Alzheimer
(D) the test and AD drugs (E) the comparison between AD and MCI

34. The new test is served to be
(A) a perfect treatment for AD patients now
(B) a pre-trial for a new drug
(C) a research tool for collecting data for the better treatment for AD patients
(D) detecting the relationship between the AD patients and the current drugs used for AD
(E) a possible early detection about how a MCI patient would develop AD
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The Snowy Owl is a bird of Arctic tundra or open grasslands and fields. They rarely venture into forested
areas. During southward movements they appear along lakeshores, marine coastlines, marshes, and even roost on
buildings in cities and towns. In the Arctic, they normally roost on pingaluks (rises in the tundra) and breed from
low valley floors up to mountain slopes and plateaus over 1,000 meters (3,000 feet) in elevation. When wintering
in the Arctic, they frequently wind-swept tundra with little snow or ice accumulation. At more southern latitudes
they typically frequents agricultural areas

35. The passage is about the Snowy Owl’s
(A) classification (B) hunting  (C) breeding (D) habitat (E) distribution

Another noteworthy trend in twent:ieﬂ;/-::g:zl% in the United States has been the use of folk and popular
music as a base for more serious composition. The motivation for these borrowings from traditional music
might be a desire on the part of a composer to return to simpler forms, to enhance patriotic feelings, or to establish
an immediate rapport with an audience. For whatever reason, composers such as Aaron Copland and Charles
Ives offered compositions featuring novel musical forms flavored with refrains from traditional Americana.
Copland drew upon folk music, particularly as sources for the music he wrote for the ballets Billy the Kid, Rodeo,
and Appalachian Spring. Ives employed the whole gamut of patriotic songs, hymns, jazz, and popular.

36. The paragraph preceding this passage most probably discusses
{(A).nineteenth-century music (B) one development in music in the last century
(C) the works of Aaron Copland (D) the history of folk and popular music

37. Which of the following best describes the main idea of the passage?

(A) Traditional music flavored some American mysical compositions in the twentieth century.
(B) Ives and Copland have used folk and popular music in their compositions.

(C) A variety of explanations exist as to why a composer might use traditional sources of music
(D) Traditional music is composed of various type of folk and popular music.

!

38. It can l;e inferred from this passage that the author is not sure :

(A) when Ives wrote his compositions (B) that Ives and Copland actually borrowed from traditional music
(C) why certain composers borrowed from folk and popular music

(D) if Copland really featured new musical forms

39. Which of the following is NOT listed in the passage as a source for Ives’s compositions?
(A) National music ~ (B) Religious music (CWazz .(R) American novels

40. The passage would most probably be assigned reading in which of the following course?
(A) American History  (B) The History of Jazz  (C) Modern American Music (D) Composition

II. Essay. Please write an essay in about 150 words. 20 points.
Topic: Some people dream of reaching unlikely goals, while other people set more reasonable and
reachable goals. Which kind of person do you tend to be? Please give examples to support your
statement.
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. Describe the hepatic portal system and the communication between

hepatic portal and systemic veins. (12%)

Describe the venous drainage of head (includes the brain) and neck.
(12%)

Describe the structure of spinal cord and the spinal meninges. (10%)

Describe the structure of duodenum, pancreas, liver, gallbladder,
colon, peritoneum, and their relationship. (14%)

Describe and compare the male and female urogenital structures.
(12%)

Describe the regional anatomy of neck. (10%)

Describe the following structures: (3 X 10 = 30%)

trigeminal nerve,

. inguinal canal,

plantar arch,
trabecular carneae,
auditory ossicles,

pyramidal decussation,

. paranasal sinus,

ductus thoracics (thoracic duct)
hamstring muscles,

hip joint.
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— 4R lymph node, spleen, Fv thymus 2 4 4% & 4 & 7 f&. (20%)

|l

3R K & B8 430413 & macrophage 3 52 ta By (10%)

1]

. 34 i hyaline, elastic cartilages, and fibrocartilage Z BB S E
(20%)

Y. R4e ik skeletal , cardiac, and smooth muscles 2 tA#K 4R 5L B (20%)

T

i il gastric, cardiac, and pyloric glands 2 8% &5 H R A 4L B (20%)

7N A ovary 2 gk &k (10%)

\"‘-

J—
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Describe the following questions (10% per one question).

‘10.

Give a drug as an example to explain how its pharmacological effects are
mediated through the Ca®'- phosphoinositide signaling pathway.

Describe the mechanism on vasodilation induced by acetylcholine through
the muscarinic receptors.

Explain the pharmacological basis of captopril and losartan.

Ondansetron is a 5-HT; antagonist. Please describe the postreceptor
mechanism after receptor binding and its clinical use.

Selegilline (deprenyl) is a drug used in the treatment of parkinsonism.
Please describe the pharmacological basis of this effect.

Compare the pharmacological basis of the anti-inflammatory and side
effects between indomethacin and rofecoxib. '

Describe the mechanism on how steroid interacts with its receptors in the
regulation of gene expression, and how Hsp90 plays the functional role in
steroid signaling.

Zidovudine (azidothymidine, AZT) has been shown to decrease the rate of
clinical disease progression and prolong survival in HIV-infected
individuals. Please describe its pharmacological basis.

Recombinant human erythropoietin (rHuEpo, epoetin alfa) is now
produced in a mammalian cell expression system by using recombinant
DNA technology. However, where is the major organ to produce the
endogenous erythropoietin? And also describe the pharmacological basis

.of its clinical use.

Describe the biological functions of GABA receptors, and list a
representative drug for the ligand of GABA receptors.
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F'ﬁﬁﬁﬁ(‘ﬁET?Ufikﬁﬁ—'&%ﬁkﬁf’ﬁﬂ HE_1457):
VL E5 BRI R A BT L AN R B 2
2 H%ﬁﬂjﬁ‘&ﬂi scleroderma F7 Sjogren syndrome FYJRERE4(L?
v 3. Bl EUEYE R UEEE (Mechanisms of chemical
carcinogenesis) °
v 4. Sl YIER 2 SRR L

A. adenoid cystic carcinoma
B. Kaposi sarcoma

C. schwannoma

D. seminoma

J 5. 3t peptic ulcer K7 Hirschsprung disease ZRERRMY -
v 6. %ﬁﬁ%jﬁﬁ‘[@’]‘_&cz&ﬁ%ﬂ?ﬁ«?ﬁﬁﬁ%ﬁ 2
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. RSB e B B 64 X $)3E % (Active transport ) #1421 %4k ( Facilitated
diffusion) o (10%)

— . SR OIR A 2 I A& (positive feedback) J% £ 3 i (negative feedback) F§ 5 o it
R e A SR AT AR TR 3 o (20%)

. #A#tHH Antidiuretic Hormone (ADH) 843 ~ S0 B » A IhfE » R HWHZ
I o (20%)

|1l

79 . ##t8H Excitation-Contraction Coupling fi##2 - (15%)
T . A48 (receptor) {1 FAGEN LU B L B AL T BB 36 BEAE o (10%)
N .t BN AR R £ AR o (10%)

. RIS K (glucose reabsorption) 2 Bl B ' /N I P W i » LA ARSI
DRHATER o (15%)
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1. EOHURRG A B A TENR T RAH Ok s (mucosal attachment) Bz {2 JERS I
Py (mucosal invasion) FARENE 2 T » EAVISUBMA R - Rtk
5 AR - (20%)

2. SRR S (Paragonimus westermani)i 4 5 S RS N B HRATS [#E
R - (10%) : :

3. FIHURY AR R @ 4D I RO (autoinfection) Ky ka4 » RIS
A 4R T o B ATer e IR M - (10%)

4. FUH 5 RS A B e SRR - WARIIRG AR 5
WHTRICHER B e & 5= 7 (15%)

5. LT FEAR A i R Y - $ M8 sk (Ancylostoma duodenale) ~ 3%
Wigsk(Necator americanus)sR 3/ MG 584 (Strongyloides stercoralis) 7
(10%)

6. FIHUB A BB AURG B (mucosal invasion) & I BZ#ffd(epithelial cell
invasion) AYEEAES 2 » WERHAHEY ARSI (EEIRAE B2 T
5 « (20%)

7. Y 5 ARG AMBROMEEL « SUATH (proglottids) S HBAEIEMEM » WHTY
E TR ? (15%)
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R A R A A I AR S R T
RSB B A S ? (12.5%)

| BRI T4 (15%)

a. Molecular mimicry

b. Antibody Dependent Enhancement (ADE)

¢. Chemokine

d. Natural killer cell

e. Tumor Necrosis Factor o (TNF-a)

SRS B BRI » AR 7
(12.5%)

. $uitt Influenza virus A 2 1917-1918 FZ KT Fﬁj\zm
BEREATZAE - HRTIERITZ “SARS” Bl BRI
WAT A AR EAE R B ? (12.5%)

| R R TS IR ? 15— AU —
BLH - (12.5%)

SRS RN B AR R O [ IS
(Gastrointestinal disease) » i LiE LT 2451k © (15%)

S YA R TS SR P R 3 -
© (10%)

. ERBURGIFTA AT RER 5 1 ROR B PRI 2 e - (10%)

AE
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1. Insulin BAHITRESGINTFHE (glycogen)&ik » HEMHEASELRILE - (10%)

2. FREMEERE 5 Y (transient) »  S{I7E epinephrine §%4 7-transmembrane
receptor {468 7 ZA S AHAT feedback desensitization or inactivation e (10%)

3. i3l glycolysis MEASAASME glucose JURL pyruvate » BHKEREF B H&FE o
(10%)

4. BRI TA S LEE A RER - (10%) :

5. BRI AR /F FIBEHITT 43 B uncompetitive B competititive »  FI[f] double
reciprocal plot FEFEAAIF kinetic parameter W43 H: — /F FH ikt (10 %)

6. BRI AT T =T 28 14 E (protein purification) /5% ¢ (10 %)

7. & clone —{E#THIELR » AHFS2E encoded protein & THEE +3H 7 {4 FH expression
system XA BRIL—FEEE - HETEH FIRA B. coli system » Pichia
system > Baculovirus system © mammalian cell system » P B A o (i
B - (10%)

8. Small interference RNA £ 2002 4E4: ¥8& 58 iR A iif2ems » Sttt H iy
IR R B © (10%)

9. fiiilt FAZAMAMI( eucaryotic cell) 2 iligk (transcription) *  4TZ 4T open
chromatin mechanism J transcriptional factors recruitment 2 Hii - (10%)

10.  FZANNEE (B G (translation)/ % MR S EE R FIRE » 10 cell
membrane » nucleus > endoplasmic reticulum 7 TIHEE » EEEHE R
HEREN IEREN & (protein sorting) » #4312 + (10%)
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SR TR (20%)
LI APER R BB =R (20%)

Attt FRR IS RE R T 2 R AR AR (15%)

AL R AR (LB AR 7 IR HGR e, LR B IR (15%)
AL A 2P (Dengue virus) YL BER S MR (15%)
ARl RAE AR [ (Bacillus anthracis) 4L TEER 25 (15%)

R
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1. Patterns of single gene inheritance
2. Name 10 common genetic diseases and its inheritance
3. Tools of human molecular genetics
4. (a) Genetic mapping and physical mapping
(b) Gene and pseudogene

5. Treatment of genetic diseases
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c AR E RN B T R A TARM B, AT A AR, T AT R R ?
1) 0.5—IMHZ

2) 1.5—2.5MHZ

3) 3.5—4.5MHZ

4) 5—10MHZ

- BRA W k4% de b O ¥ 28 8] Ff A2 LA, Borrmann K% F | AR e A ?

D 3HY, uel, Euirazsy

2) HoY, LAY, ZEAAZ[ LY

) AW, HSY, FHPRZMLY

4) BAN, FHY. ANV AREEZHLY

- BT A R AL (M AR) 37 Magnetic resonance Imaging (MRI )2 E X, ¥ X 4 # % ¢
1) #edEia

2) kRGPS

3) mIRRIEEY

4) mEdREH

. i ¥ ( Esophageal duplication ), 2 [l ! & 47 [ %0, % 8 il F- 472 M 434 T FU4TIR 2
1) 4R HERRE

2) W FRRE

3) s

4) BLEp

. RERMEAPI#F (Hypertrophic pyloric stenosis ) ES: 3P

1) saFisHRmAE X

2) axFlERALe X

3) srERmAERA

4) sFiEpEX

. Zenker’s diverticulum (# % ) RIFAXRAETIMTR ?

) &z ¥R

2) FrEEMZ R

3) &R ATE

9 RAZTFR _

. f&4 7k £ AR RE & ( Superior orbital fissure ), 4k F F4T4% (view )EE ?
1) Lateral view of skull

2) Towne's view of skull.

3) Caldwell’s view of skull

4) Law’s view of skull

1) iR

2) #HERE

3) mERA

4) FHx

.dﬂ%%&i#ﬁi&#ﬂ(mmmw FRMATIE X R & ?
1) #iep

2) BMTEME

3) AEREFE

4) B

10. Ry & REBW @& & T 74780 2

1) &8 (cecum)
2) kKRB

3) A

4) THXE

1L EFRERREOMES

D) RlERFO#Ky
2) RELERFOHF
3) REERFHLS
4) REAERFOEF

RE 2/ H

: -“#iﬁ&i$&&lﬁﬂﬁ*ﬁ“&#ﬂﬁﬁtﬁ%ﬁﬁﬁﬁ&ﬁ&THF”%@ﬂ&%ﬁﬁ%#ﬁWﬁ%ﬁ&”



12. £ 5B P, MR G ek 25 s, B B SR D
1) kA B8 Y%
2) LM¥BE ARG ER YL
3) LAMBB =, Z+RLH
4) {Eimifeydolt
13. TR AT atdne & Ak Sk ?
1) #EARAR (entry phenomenon )
2) B EE FFHAAWEH (even echo rephrasing )
3) 4FFRIRE AR B ( diastolic pseudogating )
4) #Li& (turbulence )
M. TR Pt A 7 TR RARARR (RE)?
1) Tl-weighted
2) T2-weighted
3) STIR
4) FLAIR
15, B KRG 69 BAk3R A+ B T RA S, & %5 00% (peak ) BER ¢
1) NAA ( N-Acetylaspartate )
2) creatine
3) choline
4) lactate
16. ik & (slewrate ) & A U.i'Hé'Fﬂ'Pﬁr#"
1) %435 (magnet ) 6939 4 &
2) ¥ M3 (gradient ) s95h %
3) & &M (surface coil )iy 3h $
4) TG KA YR
17. # fast spin echo 3, turbo spin echo ¥ ) echo train & X 4 :
1) ZH4% TR ¥+ Frik sy echo ik
2) fe 8RR TE % Frdicy echo
3) FHk TI ¥ Fidkc sy echo ki
4) -k echo Aty A B
18. F 7l akip & ¥ A ) P 474 CSF L BA&IMIRK 2
) T4
2) ¥ IR ¥4
3) STIR B¢
%y 4) FLAIR 4%
19. FAMER B TF TR TRPALL ?
1) B2
2) BEBEER
3) AW ALRE
4) A AP M
20. i EA TWAE R (reflux) B-EARHBE, L BiawM2A :
1) HeE37
2) HEEE
3) ¥ bEiE
4) EHWHE =44
21. 3% %56 A SR M 7 ( temporomandibular joint ) B3 44 #L ( internal derangement ), i £ T A2 ¢
1) ME#E
2) CT
3) FR/Y
4) MRI
22. 3% 4 55T XA AR B3 78 (osteonecrosis ) &5 ik :
I CT
2) MRI
3) SPECT
4) EMG
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23. $F FTH R IVURE, LARAREIRS L ARIE?
1) HRARES ZR&EHRE
2) # o3 FRLEE 56 R
3) BEAFHOEATRIMAE
4 RERYE
24. i & F B 89 R 8F 8 M a4 5% ( deep venous thrombosis ) B, AABAHAIE ¥ LRy T IR —#E28 ]’?
1) mpdRF% 4% (superficial vein of foot )
2) JRERIRARIFAL (deep vein ofleg)
3) m##k (popliteal vein )
4) Rt##R% ( femoral vein )
25. F 7 AR dn RN AR K PR AT A 7
1) £bBF
2) MR
3) mBRK
4) "
26. BAVUWT A X AR EBAE A T AR — R ?
1) XAFRBNEsaH
2) X EHRT
3) sk KRy
4) Pk EEy
7. MERELHELNTIRPA:
1) #M4MF¥ (compound fracture )
2) 3§44 %47 (blowout fracture )
3) Rt (linear fracture )
4) Mg AMEAr ( depression fracture )
28. 75 M BER A 00 BFEE CT ¥ shAk L 5] v 2 00 PUARIR - R R 0, 300 o T AT AR A T 21T R 2
1) MM
2) Fi#ik R
3) R hF AT
4) PR HEA
29. F R # X8 X ik F a9 R AT H 44917
1) R EATFLHEAANER
2) MEZBAREAZHEXANER
3) it RBATHLARAE
&) ﬁ%i%_ﬂ‘?‘ﬂiﬂﬁiﬁ%)(%ﬁﬁﬂi&%k%&ﬂ \
30. “Acoustic shadow” Z A4 F Fl{T i £ a5 H R L7
1) MR
2) CT
3) DSA
4) Ultrasound
31, AREREY3 fa i (3-vessle) s BB ¥, T FIAMELE 0383 R AR H AT M KD
1) & P39 5% 3% (right internal carotid artery)
2) % PSSRk (left internal carotid artery)
3) & HE SRk (right vertebral artery)
4) %A #8k(left vertebral artery)
2. 352k E, RASE R E:
1) s87%] R BHMER
2) S8R R A KW R
3) AR AL
4) R SLAE LB
33. 3 FFD (focal-film distance) & 36 3=+ #¥, 3§41 A1 5 400mR, 2% JAbtktt K %, FFD 205 72 #ed, A A BHAEMAS
4 mR?
1) 100
2) 200
3) 800
4) 1600



34, g ey R M Far, BF RN
1) T, Tn
2) Tz, Ly
3) Ly, Ls
4) L4 Ls
35. 484 3% 5 37 (Jefferson fracture):
1) B—SHREH
2) RS ERRZ BRI
3) LMK RZ R
4) 5 =B 3 Pe(pedicle)Z Fr
36. FATEM R, SRR LERDRE?
1) %A M _E o 6
2) BEGRET s )i
3) Resyaks AR, X AL A Sk BT BE S e
4) Fadetl i ofn
37. FAMTH & B, £3847RS o WP B, B E ho FALEH Y 8 K (prolong filming time)?
1) BiGEIREERE
2) AXMHSH
3) ®ARA
4) #hi#mk s
38. JEF 4t MR SF 7 A & % (Brain PET imaging) &y i& # K %2 » 4f £ T-(Positron)#F th 4% » S g F 5 % B R (Annihilation) + &
4 18 511kev £ T80 R A B4 7
1) 30 A&
2) 90 &
3) 180 &
4) R—ZRE
39, F 5l ik th E T e A T ERA REGF RN ?
1) O-15
2; N-13
3) C-11
- 4) F-18
40. B ATEFAHMEM R/ PR T RAORBRITTS *
1) CdTe
2) BGO(Bismuth germanate)
3) CsF -,
4) GaAs -
41, FHm—HERT AR AN SR CMEE - ATAREATRER?
1) Tc-99m PYP (Pyrophosphate)
2) Tc-99m HSA (Human serum albumin)
3) Tc99m-MAA (Macroaggregated albumin)
4) Tec-99m DMSA (Dimercaptosuccinic acid)
2. XA A ARG Y 0 E2 R AT AT S R w4 R T AR AT BRI 7
1) % £ $a i (Polygonal cell)
2) K ik $a g (Bile duct cell)
3) J R $a g (Kupffer cell)
4) & a3 $a . (White blood cell)
43, phgR A % B4k £ AT IEAZ B % & %i#i(Macroaggregated particles) » 3848 df THiEEamAN?
1) HFRBREAS B2
2) MR B5HER
3) BEkkrR
4) ke
44, 99mTc-MDP # 8k ik 414 + B by ATk AR IH 2
1) B
2) WR
3) kB
4) ®2hHMBK



R AR+ BRI IHRA SR

45. FFl ey — Ak £ 0 RAS LR R E ?
1) I-131 &4 Thyroid uptake counting
2) Xe-133 #4 Lung scan
3) Tc-99m #4 Thyroid Scan
4) 1-131-RISA #4 CSF flow determination
46. A8 30 R — BN B B BIEAE (LDsono) #4255 & Gy ?
1) 25~30-
2) 40~5.0-
3) 6.0~7.0-
4) 8.0~9.0-
AT, FATHAR BRI, RN R &R F AT E RAL?
1) Co-60
2) 4MV x-ray
3) 10 MV x-ray
4) 6 MV x-ray
48, ER RAATRIG R R FR T R4 2 B L RAMT MR ?
1) E¥4mK -
2) REX AR -
3) Hheas -
4) R -
49. HMTFHROR DN EMAEEE G E MO RER
1) 5 i Jy KR4S, -
2) $e A3 Ao -
3) A EEAE,
4) X X5 Ao -
S0. FHTHA NG R A RN EAM KRB R L > HE D2 T M mERK?
1) égin - -
2) $R3K ©
3) AR -
4) S5 -



BB A BT LY SygmE  RE B H

Q&A(60%)
1. What is the central dogma of molecular biology?
2. (a) Describe the meanings of three underlines shown in the below table.
(b) Rationale your answer and show how to calculate the génome size from the
polymerization rate in this
E. coli polymerase III.

DNA polymerases

Polymerase

Characteristic | I 11
Molecular weight 103,000 88,000 900,000
Polypeptide subunits 1 4 10
Polymerization rate 16 -20 7 250-1000

(nucleotides/sec)
Activity

3' -> 5’ exonuclease Yes Yes Yes

5' -> 3' exonuclease Yes No No

3. What is RM system (restriction and modification)? Describe the historical event
of the RM system and its evolutionary interactions between T4 phage and their
hosts.

4. Describe and explain the processing of eukaryotic mRNA.

Describe the regulation mechanism of Trp operon.
Describe the principles of recombinant DNA

Compare the items as followings: (40%)

Nucleside and nucletide

Type I Topoisomerase and Type II Topoi somerase
Genome and proteome

Nucleotide excision repair and base excision repair
RT-PCR and real-time PCR

RNAI and antisense RNA

Wobble hypothesis and degeneracy
luecine-zipper and zinc-finger proteins.
Ubiquitin and SUMO

0 Yeast Two-hybrid system and Phage display

e e Rl



A B B LA R, AEHERAYME w5 H

L SR Bl e o3 2 E R 80t5 5] A2 B 2 5 F Mo
2. RAEWAMALE, LRARETFRHEARRL D ERUAERR
3. RHEEIEMRABARMBELEEHE AT - Leptin & neuropeptide Y 2 f & 2477

4. RULASRT 09 R 3 b lipid #93E %, 33098 high cholesterol % 3% atherosclerosis 2 4% %1

Uh

- 33 & 42 DNA (recombinant DNA) & % B i 7 (cloning of DNA) & 4 4% % ~ 5 2 & K% % 45 /& A

=

LA 4k #k A1) 3.8 Hypothalamic-pituitary-end-organ axis & = 4% 3% %4 4]

3 ik GH 4R i 4 o2 B 4 58 1 454 A

7. %17 DNA double helix £ AT-rich #5 & i (%o TATA box)3# 4 4k transcription ) recognition site?
8. 1A thalassemia % {53780 gene mutation %4 & & % A 448 S Br o 2 B2

9. L5 M bm B Fx 4w 6,38 3 (cell cycle) b &-18 phase FF 34T 89 T4E

0. FEHACRBHERTRMARGNRM, LERGT—EAXRRPERLRAE T OB -



R A B - T B AR TR - A INILfE AR AR S %

o]

GADAIR RS G2« JARPIIAEL ~ 20 B RS P L e A P o /5B
FEE 2 (16%)

Ak AR T ROk M TR a0 U R B e TR 2 LU, 0 n g
{EEAY A IR ST 2 (12%)

AR AP B2 S Y FUE I N A 22 5805 e & R 2 (16%)

B RIS CRT P © (24%)
A SEHERBECE

ML

ST

HAEIEC

— R

e

A

R

T oOmmg oW

AL B AT 575 7 (14%)

TBAMIT106724 > AMBRENTASRZIO BRI TRETE BT - MTBHOEE (RS A T
RUREEE T I BN L — bR At $3’%ﬁér’2'7‘?i—‘fiﬁ’ﬁT PR A R ey 2 5t
CHUREAETOFERT AT RHRNARES RO A S EEA A BHIS SR8 TRy
f"FHJ.fJ“ (18%)



